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Combination response (55 marks) 

Assessment objectives 
This assessment instrument is used to determine student achievement in the following 
objectives: 
1. explain geographical processes by describing the features, elements and interactions of

demographic processes that shape the identity of places and result in patterns of population
change

2. comprehend geographic patterns by recognising spatial patterns of demographic change for
places at global, regional and local scales of study, identifying relationships and the
implications for people and places

3. analyse geographic data and information by selecting and interpreting demographic data to
infer how patterns, trends and relationships represent a geographical challenge in relation
to global population change

4. apply geographical understanding by extrapolating from their analysis to generalise about
the impacts of demographic change for places of origin and places of destination globally

6. communicate geographical understanding of global, regional and local demographic
change and the challenge for sustainable management by selecting and using cartographic,
graphic, written and mathematical skills in short and extended responses

Note: Objective 5 is not assessed in this instrument. 
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Introduction 

The Queensland Curriculum and Assessment Authority (QCAA) has developed mock external 
assessments for each General senior syllabus subject to support the introduction of external 
assessment in Queensland. 

An external assessment marking guide (EAMG) has been created specifically for each mock 
external assessment.  

The mock external assessments and their marking guides were: 

• developed in close consultation with subject matter experts drawn from schools, subject

associations and universities

• aligned to the external assessment conditions and specifications in General senior syllabuses

• developed under secure conditions.

Purpose 

This document consists of an EAMG and an annotated response. 

The EAMG: 

• provides a tool for calibrating external assessment markers to ensure reliability of results

• indicates the correlation, for each question, between mark allocation and qualities at each

level of the mark range

• informs schools and students about how marks are matched to qualities in student responses.

Mark allocation 

Where a response does not meet any of the descriptors for a question or a criterion, a mark of ‘0’ 

will be recorded.  

Where no response to a question has been made, a mark of ‘N’ will be recorded.
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External assessment marking guide (EAMG) 
Short response 

Question The response Mark 

1a) • correctly explains rate of natural change as the difference between birth rates and death
rates

1 

• does not satisfy any of the descriptors above. 0 

Question The response Mark 

1b) • explains that rate of natural change can be positive or negative
• explains that population will decline if death rate is greater than birth rate, and population

growth is dependent on migration
• explains that population will increase if death rate is less than birth rate, resulting in a

youthful population

3 

• explains that population will decline if death rate is greater than birth rate
• explains that population will increase if death rate is less than birth rate

2 

• makes a relevant statement about changing population concerning birth rates or death
rates

1 

• does not satisfy any of the descriptors above. 0 
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Question The response Mark The response Mark The response Mark The response Mark 

2a) • places the
dependent
variable (RNI)
on vertical axis
and
independent
variable (GDP)
on horizontal
axis

1 • uses
appropriate
scales

1 • correctly plots
the line of best fit
(negative
correlation)

1 • correctly plots all of the
data

3 

• does not satisfy
any of the
descriptors
above.

0 • does not
satisfy any of
the descriptors
above.

0 • does not satisfy
any of the
descriptors
above.

0 • plots all of the data 2 

• plots some of the data 1 

• does not satisfy any of
the descriptors above.

0 
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Question The response Mark 

2b) • correctly identifies a clustered spatial pattern
• identifies Albania as the outlier
• explains the negative correlation using examples from the graph
• makes plausible inferences about how Niger could move closer to the line of best fit

7 

• correctly identifies a clustered spatial pattern
• explains the negative correlation using examples from the graph
• makes plausible inferences about how Niger could move closer to the line of best fit

6 

• describes the spatial pattern
• explains the negative correlation using examples from the graph
• makes inferences about how Niger could move closer to the line of best fit

5 

• describes the spatial pattern
• identifies a negative correlation
• makes an inference about how Niger could move closer to the line of best fit

4 

• describes a spatial pattern
• makes an inference about how Niger could move closer to the line of best fit

3 

• describes a spatial pattern
OR 

• makes an inference about how Niger could move closer to the line of best fit

2 

• makes a relevant statement about an aspect of the pattern in the graph 1 

• does not satisfy any of the descriptors above. 0 



Geographymarking guide and response 
Sample external assessment 2020 

Queensland Curriculum & Assessment Authority 

Question The response Mark 

3a) • correctly defines international migration, including that it may be forced or voluntary 1 

• does not satisfy any of the descriptors above. 0 

Question The response Mark 

3b) • provides a detailed explanation, referring to three factors 4 

• provides a detailed explanation, referring to two factors 3 

• provides a detailed explanation, referring to one factor
OR 

• provides an explanation of how the factors contribute to international migration

2 

• provides an explanation of how one factor contributes to international migration 1 

• does not satisfy any of the descriptors above. 0 
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Question The response Mark 

4a) • shows the correctly drawn population pyramid for each of the 5 stages 5 

• shows the correctly drawn population pyramid for 4 of the stages 4 

• shows the correctly drawn population pyramid for 3 of the stages 3 

• shows the correctly drawn population pyramid for 2 of the stages 2 

• shows the correctly drawn population pyramid for 1 of the stages 1 

• does not satisfy any of the descriptors above. 0 
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Question The response Mark 

4b) • provides a detailed explanation, including an example of contemporary populations that can
be identified for the five stages of the DTM

• identifies two plausible implications for places that are in Stage 5

5 

• provides a detailed explanation, including an example of contemporary populations that can
be identified for four stages of the DTM

• identifies two plausible implications for places that are in Stage 5

4 

• provides a detailed explanation, including an example of contemporary populations that can
be identified for three stages of the DTM

• identifies a plausible implication for places that are in Stage 5

3 

• provides an explanation of Stage 5 of the DTM
• identifies an implication for places that are in Stage 5

2 

• provides an explanation of the DTM
OR 

• identifies an implication for places that are in Stage 5

1 

• does not satisfy any of the descriptors above. 0 
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Question The response Mark 

5 • identifies the declining trend for TFR for both countries
• provides a detailed explanation of the changing patterns of fertility for both countries
• provides a detailed explanation of the changing contribution of each country to global

population
• uses appropriate and detailed data to support the explanation

8 

• identifies the declining trend for TFR for both countries
• provides a detailed explanation of the changing patterns of fertility for both countries
• provides a detailed explanation of the changing contribution of each country to global

population
• uses appropriate data to support the explanation

7 

• identifies the declining trend for TFR for both countries
• provides an explanation of the changing patterns of fertility for both countries
• provides a detailed explanation of either China or India’s changing contribution to global

population
• uses appropriate data to support the explanation

6 

• identifies the declining trend for TFR for both countries
• provides an explanation of the changing patterns of fertility for either China or India
• provides an explanation of either China or India’s changing contribution to global population
• uses appropriate data to support the explanation

5 

• identifies the declining trend for TFR for both countries
• provides an explanation of the changing patterns of fertility for either China or India
• uses appropriate data to support the explanation

OR 
• identifies the declining trend for TFR for both countries
• provides an explanation of either China or India’s changing contribution to global population
• uses appropriate data to support the explanation

4 

• provides an explanation of either China or India’s contribution to global population
• uses appropriate data to support the explanation

3 
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Question The response Mark 

OR 
• describes the pattern of fertility for China and India
• uses appropriate data to support the explanation

• describes the fertility rates for China and India
• makes a relevant statement about global population trends

2 

• describes the fertility rates for China and India
OR 

• makes a relevant statement about global population trends

1 

• does not satisfy any of the descriptors above. 0 
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Extended response 

Question The response Mark The response Mark 

6 • provides a detailed explanation of the demographic
challenges

• selects comprehensive data and information to support the
explanation

• makes insightful inferences about the impacts on people or
places

10 • communicates meaning
coherently and fluently

• uses spelling, punctuation
and grammar proficiently

• uses correct geographical
terminology

5 

• provides a detailed explanation of the demographic
challenges

• selects comprehensive data and information to support the
explanation

• makes inferences about the impacts on people or places

9 • communicates meaning
coherently

• uses spelling, punctuation
and grammar proficiently

• uses correct geographical
terminology

4 

• provides an explanation of a demographic challenge
• selects comprehensive data and information to support the

explanation
• makes inferences about the impacts on people or places

8 • communicates meaning
• uses spelling, punctuation

and grammar with control
• uses correct geographical

terminology

3 

• provides an explanation of a demographic challenge
• selects relevant data and information to support the

explanation
• makes inferences about the impacts on people or places

7 • communicates meaning
• demonstrates inconsistent

control of spelling, grammar
and/or punctuation

2 

• provides an explanation of a demographic challenge
• selects relevant data and information to support the

explanation
• describes impacts on people or places

6 • communicates some
meaning

• demonstrates inconsistent
control of spelling, grammar
and/or punctuation

1 
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Question The response Mark The response Mark 

• identifies a demographic challenge
• describes social conditions evident in the stimulus
• describes environmental conditions evident in the stimulus
• identifies impacts on people or places

5 • does not satisfy any of the
descriptors above.

0 

• makes relevant statements about the migration of Chinese
workers

• describes social conditions evident in the stimulus
• describes environmental conditions evident in the stimulus

4 

• makes a relevant statement about the migration of Chinese
workers

• describes aspects of the stimulus

3 

• makes a relevant statement about the migration of Chinese
workers

OR 
• describes aspects of the stimulus

2 

• makes a relevant statement about the migration of Chinese
workers

1 

• does not satisfy any of the descriptors above. 0 
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Assessment objectives

This assessment instrument is used to determine student achievement in the following objectives:

1.	explain geographical processes by describing the features, elements and interactions of demographic processes that shape the identity of places and result in patterns of population change 

2.	comprehend geographic patterns by recognising spatial patterns of demographic change for places at global, regional and local scales of study, identifying relationships and the implications for people and places

3.	analyse geographic data and information by selecting and interpreting demographic data to infer how patterns, trends and relationships represent a geographical challenge in relation to global population change

4.	apply geographical understanding by extrapolating from their analysis to generalise about the impacts of demographic change for places of origin and places of destination globally

6.	communicate geographical understanding of global, regional and local demographic change and the challenge for sustainable management by selecting and using cartographic, graphic, written and mathematical skills in short and extended responses

Note: Objective 5 is not assessed in this instrument.
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The Queensland Curriculum and Assessment Authority (QCAA) has developed mock external assessments for each General senior syllabus subject to support the introduction of external assessment in Queensland.

An external assessment marking guide (EAMG) has been created specifically for each mock external assessment. 

The mock external assessments and their marking guides were:

developed in close consultation with subject matter experts drawn from schools, subject associations and universities

aligned to the external assessment conditions and specifications in General senior syllabuses  

developed under secure conditions.

Purpose

This document consists of an EAMG and an annotated response.

The EAMG:

provides a tool for calibrating external assessment markers to ensure reliability of results

indicates the correlation, for each question, between mark allocation and qualities at each level of the mark range 

informs schools and students about how marks are matched to qualities in student responses.

The annotated response:

demonstrates the qualities of a high-level response 

has been annotated using the EAMG.

Mark allocation

Where a response does not meet any of the descriptors for a question or a criterion, a mark of ‘0’ will be recorded. 







Where no response to a question has been made, a mark of ‘N’ will be recorded.
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Short response

		Question

		The response

		Mark 

		Notes



		1a)

		correctly explains rate of natural change as the difference between birth rates and death rates

		1

		



		

		does not satisfy any of the descriptors above.

		0

		







		Question

		The response

		Mark 

		Notes



		1b)

		explains that rate of natural change can be positive or negative

explains that population will decline if death rate is greater than birth rate, and population growth is dependent on migration 

explains that population will increase if death rate is less than birth rate, resulting in a youthful population  

		3

		



		

		explains that population will decline if death rate is greater than birth rate

explains that population will increase if death rate is less than birth rate 

		2

		



		

		makes a relevant statement about changing population concerning birth rates or death rates

		1

		



		

		does not satisfy any of the descriptors above.

		0

		








		Question

		The response

		Mark

		The response

		Mark

		The response

		Mark

		The response

		Mark 

		Notes



		2a)

		places the dependent variable (RNI) on vertical axis and independent variable (GDP) on horizontal axis

		1

		uses appropriate scales

		1

		correctly plots the line of best fit (negative correlation)

		1

		correctly plots all of the data

		3

		‘Correctly plots’ means accurately plotting data using correct axes. 

‘Plots data’ means accurately plotting data although the axes are reversed.



		

		does not satisfy any of the descriptors above.

		0

		does not satisfy any of the descriptors above.

		0

		does not satisfy any of the descriptors above.

		0

		plots all of the data

		2

		



		

		

		plots some of the data

		1

		



		

		

		does not satisfy any of the descriptors above.

		0

		










		Question

		The response

		Mark 

		Notes



		2b)

		correctly identifies a clustered spatial pattern

identifies Albania as the outlier 

explains the negative correlation using examples from the graph

makes plausible inferences about how Niger could move closer to the line of best fit 

		7

		Evidence for the inference may include

Niger must reduce RNI to move closer to line of best fit. They could invest in strategies to improve health and education to reduce RNI

… 



Negative correlation occurs as the independent variable increases (GDP) and the dependent variable decreases (RNI).







		

		correctly identifies a clustered spatial pattern

explains the negative correlation using examples from the graph

makes plausible inferences about how Niger could move closer to the line of best fit

		6

		



		

		describes the spatial pattern

explains the negative correlation using examples from the graph

makes inferences about how Niger could move closer to the line of best fit

		5

		



		

		describes the spatial pattern

identifies a negative correlation

makes an inference about how Niger could move closer to the line of best fit

		4

		



		

		describes a spatial pattern

makes an inference about how Niger could move closer to the line of best fit

		3

		



		

		describes a spatial pattern

OR

makes an inference about how Niger could move closer to the line of best fit

		2

		



		

		makes a relevant statement about an aspect of the pattern in the graph

		1

		



		

		does not satisfy any of the descriptors above.

		0

		








		Question

		The response

		Mark

		Notes



		3a)

		correctly defines international migration, including that it may be forced or voluntary

		1

		International migration is the movement of people from one country to another country.



		

		does not satisfy any of the descriptors above.

		0

		







		Question

		The response

		Mark

		Notes



		3b)

		provides a detailed explanation, referring to three factors 

		4

		Social factors may include

family reunion

education

health

persecution

 …

Environmental factors may include

natural hazards/disasters

climate

 …

Economic factors may include

employment

labour supply and demand

 …



		

		provides a detailed explanation, referring to two factors

		3

		



		

		provides a detailed explanation, referring to one factor

OR

provides an explanation of how the factors contribute to international migration

		2

		



		

		provides an explanation of how one factor contributes to international migration

		1

		



		

		does not satisfy any of the descriptors above.

		0

		








		Question

		The response

		Mark 

		Notes



		4a)

		shows the correctly drawn population pyramid for each of the 5 stages

		5

		



		

		shows the correctly drawn population pyramid for 4 of the stages 

		4

		



		

		shows the correctly drawn population pyramid for 3 of the stages 

		3

		



		

		shows the correctly drawn population pyramid for 2 of the stages 

		2

		



		

		shows the correctly drawn population pyramid for 1 of the stages 

		1

		



		

		does not satisfy any of the descriptors above.

		0

		










		Question

		The response

		Mark 

		Notes



		4b)

		provides a detailed explanation, including an example of contemporary populations that can be identified for the five stages of the DTM

identifies two plausible implications for places that are in Stage 5

		5

		Examples of countries in each stage of the DTM may include

Stage 1 — rural communities in LEDCs, e.g. Bangladesh, Ethiopia, Burkina Faso, Cambodia

Stage 2 — Afghanistan, Kenya, Ghana, Niger, Zimbabwe, Kenya and other countries form sub-Saharan Africa

Stage 3 — Egypt, Morocco, Colombia, India, Vietnam, Mexico, Chile

Stage 4 — Malaysia, United States, Canada, Australia, Brazil, Indonesia, Turkey

Stage 5 — Germany, Italy, Japan.







		

		provides a detailed explanation, including an example of contemporary populations that can be identified for four stages of the DTM

identifies two plausible implications for places that are in Stage 5

		4

		



		

		provides a detailed explanation, including an example of contemporary populations that can be identified for three stages of the DTM

identifies a plausible implication for places that are in Stage 5

		3

		



		

		provides an explanation of Stage 5 of the DTM

identifies an implication for places that are in Stage 5

		2

		



		

		provides an explanation of the DTM

OR

identifies an implication for places that are in Stage 5

		1

		



		

		does not satisfy any of the descriptors above.

		0

		








		Question

		The response

		Mark

		Notes



		5

		identifies the declining trend for TFR for both countries

provides a detailed explanation of the changing patterns of fertility for both countries 

provides a detailed explanation of the changing contribution of each country to global population 

uses appropriate and detailed data to support the explanation 

		8

		



		

		identifies the declining trend for TFR for both countries

provides a detailed explanation of the changing patterns of fertility for both countries 

provides a detailed explanation of the changing contribution of each country to global population 

uses appropriate data to support the explanation

		7

		



		

		identifies the declining trend for TFR for both countries

provides an explanation of the changing patterns of fertility for both countries 

provides a detailed explanation of either China or India’s changing contribution to global population 

uses appropriate data to support the explanation

		6

		



		

		identifies the declining trend for TFR for both countries

provides an explanation of the changing patterns of fertility for either China or India

provides an explanation of either China or India’s changing contribution to global population 

uses appropriate data to support the explanation

		5

		



		

		identifies the declining trend for TFR for both countries

provides an explanation of the changing patterns of fertility for either China or India

uses appropriate data to support the explanation

OR

identifies the declining trend for TFR for both countries

provides an explanation of either China or India’s changing contribution to global population 

uses appropriate data to support the explanation

		4

		



		

		provides an explanation of either China or India’s contribution to global population 

uses appropriate data to support the explanation

OR

describes the pattern of fertility for China and India

uses appropriate data to support the explanation

		3

		



		

		describes the fertility rates for China and India 

makes a relevant statement about global population trends

		2

		



		

		describes the fertility rates for China and India 

OR

makes a relevant statement about global population trends

		1

		



		

		does not satisfy any of the descriptors above.

		0

		








Extended response

		Question

		The response

		Mark

		The response

		Mark 

		Notes



		6

		provides a detailed explanation of the demographic challenges  

selects comprehensive data and information to support the explanation 

makes insightful inferences about the impacts on people or places

		10

		communicates meaning coherently and fluently 

uses spelling, punctuation and grammar proficiently

uses correct geographical terminology

		5

		Comprehensive data is ‘of a broad scope’.



Insightful is ‘understanding relationships in complex situations’.



		

		provides a detailed explanation of the demographic challenges  

selects comprehensive data and information to support the explanation 

makes inferences about the impacts on people or places

		9

		communicates meaning coherently 

uses spelling, punctuation and grammar proficiently

uses correct geographical terminology

		4

		



		

		provides an explanation of a demographic challenge  

selects comprehensive data and information to support the explanation 

makes inferences about the impacts on people or places

		8

		communicates meaning 

uses spelling, punctuation and grammar with control

uses correct geographical terminology

		3

		



		

		provides an explanation of a demographic challenge  

selects relevant data and information to support the explanation 

makes inferences about the impacts on people or places

		7

		communicates meaning 

demonstrates inconsistent control of spelling, grammar and/or punctuation

		2

		



		

		provides an explanation of a demographic challenge  

selects relevant data and information to support the explanation 

describes impacts on people or places

		6

		communicates some meaning

demonstrates inconsistent control of spelling, grammar and/or punctuation







		1

		



		

		identifies a demographic challenge 

describes social conditions evident in the stimulus

describes environmental conditions evident in the stimulus

identifies impacts on people or places

		5

		does not satisfy any of the descriptors above.

		0

		



		

		makes relevant statements about the migration of Chinese workers

describes social conditions evident in the stimulus

describes environmental conditions evident in the stimulus

		4

		

		

		



		

		makes a relevant statement about the migration of Chinese workers

describes aspects of the stimulus  

		3

		

		

		



		

		makes a relevant statement about the migration of Chinese workers

OR

describes aspects of the stimulus  

		2

		

		

		



		

		makes a relevant statement about the migration of Chinese workers

		1

		

		

		



		

		does not satisfy any of the descriptors above.

		0
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Sample response

		correctly explains rate of natural change as the difference between birth rates and death rates

		Question 1a (1 mark)

The difference between the birth rate and the death rate of a place is called the rate of natural change. 





		explains that rate of natural change can be positive or negative

explains that population will decline if death rate is greater than birth rate, and population growth is dependent on migration 

explains that population will increase if death rate is less than birth rate, resulting in a youthful population  

		Question 1b (3 marks)

Population change can be either positive or negative depending on the difference in birth and death rates in a population. Where birth rates exceed death rates there is a positive rate of natural change and this creates a youthful population. When death rates exceed birth rates the rate of natural change is negative and results in an ageing population. Population growth is dependent on migration.



		















































places the dependent variable (RNI) on vertical axis and independent variable (GDP) on horizontal axis

uses appropriate scales 

correctly plots the line of best fit (negative correlation)

correctly plots all of the data

		







































Question 2a (6 marks)

[image: ]



		

correctly identifies a clustered spatial pattern

identifies Albania as the outlier 

explains the negative correlation using examples from the graph

makes plausible inferences about how Niger could move closer to the line of best fit 



		Question 2b (7 marks)

There is a negative correlation between GDP and RNI, as GDP increases RNI decreases. This correlation creates a clustered spatial pattern. The African countries are grouped well above the line of best fit with very low GDP (well below 500USD) and high RNI (from 2.8 to 3.8 for Niger); European Countries are grouped well below the line of best fit with high GDP (between 25,000 – 70,000) and low RNI, with Italy showing a negative RNI. Although Norway is above the line of best fit it still fits the correlation. Albania is an outlier, it sits with the South American countries rather than the other European countries. The South American countries have GDP and RNI between that of the African nations and the European nations. In order for Niger to move closer to the line of best fit it must reduce its RNI. This may include education programs and increased maternal rights for women. 



		correctly defines international migration, including that it may be forced or voluntary

		Question 3a (1 mark)

International migration is the movement of people from one country to another. International migration may be voluntary or forced.



		provides a detailed explanation, referring to the three factors

		Question 3b (4 marks)

Social factors such as conflict may result in forced migration as people escape violence in their home country. Economic factors may lead to voluntary migration as people choose to move to a country that provides opportunities to earn a better income. People may choose to move to another country for environmental reasons such as to live in a place with a nicer climate or they could be forced to move as environmental refugees. 



		

shows for the five stages the correctly drawn population pyramid 



		Question 4a (5 marks)

[image: ]



		

provides a detailed explanation, including an example of contemporary populations that can be identified for the five stages of the DTM

identifies two plausible implications for places that are in Stage 5

		Question 4b (5 marks)

Although it is an historical model, for each stage of the DTM a contemporary population can be identified that matches the relevant characteristics. For example, although most countries have moved beyond stage one there are still rural areas in LEDC countries such as Bangladesh that still have high birth rates and high death rates. Countries experiencing falling death rates (Stage 2) include, Afghanistan and many places in sub-Saharan Africa. Stage three is characterised by falling birth rates as seen in many countries including Chile, while most of the MEDC countries such as Australia exemplify Stage Four with falling birth and falling death rates. The implications for countries in Stage five are significant as their birth rates fall below death rates, the population ages this increases the aged dependency ratio. As RNI falls well below replacement value a population relies on migration for growth. This can be seen in places such as Italy, Japan and Germany.  



		

identifies the declining trend for TFR for both countries

provides a detailed explanation of the changing patterns of fertility for both countries 

provides a detailed explanation of the changing contribution of each country to global population 

uses appropriate and detailed data to support the explanation

		Question 5 (8 marks)

Although both India and China are experiencing a decline in TFR this trend is more significant in China which in 2005-10 was 1.8, well below replacement fertility of 2.3, while India remained above replacement value at appx. 2.8. The pattern of decline for each country has been different with India experiencing a slow decline between 1950 and 1980 (from 6.2 to 5) followed by a more rapid decline from 1980 – 2010 (from 5 to 2.8), in China the reverse occurred. Chain had a rapid decline from 6 – 3 between 1950 – 1980 and a slower decline from 3 to 1.8 between 1980 and 2010. The impact of the changing fertility rates can be seen in the contribution of each country to total population growth in the different time periods. For example, in 1950-55 China contributed 22% to global population whereas India contributed only 15%. In 2005 - 10 India’s contribution increased to 18% while China’s contribution decreased to 20%.    



		

provides a detailed explanation of the demographic challenges  

selects comprehensive data and information to support the explanation 

uses the analysis to make insightful inferences about the impacts on people or places



		Question 6 (15 marks)

Although the internal migration of workers in China is declining, from 4.5% in 2011 to only 1.2% in 2015 and this may imply that people are being employed in their home provinces and do not need to move to areas of higher employment, there is still large numbers of people migrating, 276 million in 2015. The majority of migrants are being employed in construction and manufacturing in both the central and eastern provinces. However, manufacturing is a more permanent type of employment and in the eastern provinces constitutes 43% of employment. This may explain the movement of people to coastal areas on the eastern seaboard. Coastal provinces provide suitable locations for seaports, which provide accessible export routes for manufacturers which may be a reason why manufacturing is dominant in this region. Guangdong is a preferred destination for workers with the highest net increase of 18,000 000+ due to internal migration, as well as the highest total population growth (2008-2013). The challenges arising from this migration are both social and environmental. For example, the ability to accommodate workers, as well as the loss of farm land as urban areas grow has significant implications for people.  



Accommodation for workers is limited given that 19% of workers are living in either sheds at constructions sites or some other type of accommodation at works sites and 29% of workers live in dormitories. For those living on construction/work sites there are implications for their health because of factors such as inadequate sanitation, lack of running water and inadequate access to heating and cooking facilities. Sheds, for example, are unlikely to be formal housing with plumbing. Lack of plumbing can result in diarrheal illness if toilets are open pit/latrine style and are shared. Similarly, disease spread in dormitory accommodation in which facilities are shared is also likely to be an implication of limited accommodation options. The result is that as people’s health declines they are less able to work and become unemployed. The cost of living, especially regards to food, is a challenge for those living in large urban areas, especially where farm land is decreasing, as is the case in Guangzhou.



It is projected that by 2020 urban growth in Guangzhou will continue to increase (up to 20%) while farm land is projected to decrease by up to 5%. The impact of this landuse change will be a decrease in locally produced food which may create food insecurity due to either limited availability and/or prohibited cost of food due to lower supply. A secondary health implication may arise if people change their diets to more available, packaged foods due to a lack fresh food availability. This landuse change may also result in the growth of unemployed, unskilled workers as farm workers are no longer required.  So, although the growth in internal migration of workers is declining, the large numbers of people that choose Guangdong province as their destination will result in continued urbanisation and the associated challenges will exist into the future. communicates meaning coherently and fluently 

uses spelling, punctuation and grammar proficiently
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Figure 1: Demographic Transition Model
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